|
abdominal

| cough_st
pain_st | scen 1 scen 2 scen 3 |
scen 1] 19 19 19 |
| 19.2 19.6 18:2 |
scen 2| 21 18 17 |
| 18.9 19.2 17.9 |
scen 31 17 21 18 |
| 18.9 19.2 17.9 |
Total | 57 58 54 |
| 57.0 58.0 54.0 |
Pearson chi2(4) = 0.7653 Pr = 0.943
abdominal | fatigue_st
pain_st | scen 1 scen 2 | Total
scen g | 30 27 | 57
| 27.0 30.0 | 57.0
scen 2] 26 30 | 56
| 26.5 29.5 | 56.0
scen 3| 24 32 | 56
| 26.5 29.5 | 56.0
Total | 80 89 | 169
| 80.0 89.0 | 169.0
Pearson chi2(2) = 1.1103 Pr = 0.574
abdominal | back pain_st
pain_st | scen 1 scen 2 | Total
scen i | 33 24 | 57
| 30.0 27.0 | 57.0
scen 2 i 26 30 | 56
| 29.5 26.5 | 56.0
scen 3| 30 26 | 56
| 29.5 26.5 | 56.0
Total | 89 80 | 169
| 89.0 80.0 | 169.0
Pearson chi2(2) = 1.5175 Pr = 0.468
fatigue_st | chest pain_st
| scen 1 scen 2 scen 3 | Total
1] 28 25 27 | 80
| 27.9 26.5 25.6 | 80.0
2| 31 31 27 | 89
| 31.1 29.5 28.4 | 89.0
Total | 59 56 54 | 169
| 59.0 56.0 54.0 | 169.0
Pearson chi2(2) = 0.3170 Pr = 0.853
back pain | abdominal pain_st
_s5T I scen 1 scen 3 | Total
scen 1] 33 26 30 | 89
| 30.0 29.5 29.5 | 89.0
scen 2 24 30 26 | 8O
| 27.0 26.5 26.5 | 80.0
Total | 57 56 56 | 169
| 57.0 56.0 56.0 | 169.0
pPearson chi2(2) = 1.5175 Pr = 0.468
back pain | cough_st
_s5T I scen 1 scen 2 scen 3 | Total
scen 1] 31 32 26 | 89
| 30.0 30.5 28.4 | 89.0
scen 2 26 26 28 | 80
| 27.0 27.5 25.6 | 80.0
Total | 57 58 54 | 169
| 57.0 58.0 54.0 | 169.0
Pearson chi2(2) = 0.6559 Pr = 0.720

cough_st | abdominal pain_st cough_st | back pain_st
| scen 1 en 3 | Total | scen 1 scen 2 | Total chest pain | back pain_st
+ t t st scen 1 scen 2 Total
| scen 1] 31 26 | 57 = ,1 N +I x
| | 30.0 27.0 | 57.0 scen 1] 32 27 | 59
+ 317 27.9 59.0
| scen 21 32 26 | 58 l ______________________ l __________
I I 30.5 27.5 | 58.0 scen 2] 30 26 | 56
+ t t 29.5 26.5 56.0
| scen 31 26 28 | 54 . __4],_ —— - +I -
| I 28.4 25.6 | 54.0 scen 3| 27 27 | 54
+ 28.4 25.6 54.0
6 Total | 89 80 169 1 l 2
57.0 56.0 56.0 | 169.0 I §9.0 80.0 | 169.0 Total } 89 80 I 169
. 89.0 80.0 169.0
pearson chi2(4) = 0.7653 Pr = 0.943 pearson chi2(2) = 0.6559 Pr = 0.720 RE5E o 558 o5
pearson chi = % Pr = 0.
. hest pain | cough_st
cough_st | chest pain_st < . i .
| scen 1 scen 2 scen 3 | Total -t I scen 1 scen 2 scen 3 | Total fatigue_st { at{dom‘lna'l pa;n_st 51 g
3 + N t t scen scen scen ota
scenario 1 | 25 19 13 | s7 scen 1 1023 I 15 | so g Coomomomoe- oo fmomomomeee
I 19.9 18.9 18.2 | 57.0 X : : o 12 scen 1 } 2738 5229 262‘; I 8088
___________ - - + D 5 3 3
scenario 2 | 17 20 21 | sg scen 2 L 162 =y L oy o == + x
I 20.2 19.2 18.5 | 58.0 ; : : - 12 scen 2 } 5525 5500 5552 I 4650
scenario 3 | 17 17 20 | sg scen 3 183 168 173 | 1.0 &= + == == +
| 18.9 17.9 17.3 | 54.0 ; : : - : Total } 5% 539 <3S I 5202
+ + Total | 57 58 54 | 169 . : : .
e co00 ceS ot N I 57.0 58.0 54.0 | 169.0 pearson chi2(2) = 1.1103 Pr = 0.574
. pPearson chi2(4) =  4.3450 Pr = 0.361
Pearson chi2(4) = 4.3450 Pr = 0.361
fatigue_st | cough_st
| scen 1 scen 2 scen 3 | Total
chest pain | fatigue_st 5 &
cough_st | fatigue_st _st ] scen 1 scen 2 | Total 2cen 1 } 2728 273(; zszé I 8088
| scen 1 scen 2 | Total s L o il )
+ + scen 11 28 31 | 59 1 H
scen 1] 29 28 | 57 I 279 31.1 | 59.0 seen 2] 228 528 53 1 552
| 27.0 30.0 | 57.0 + + i i ' i '
3 + scen 2] 25 31 | 56 ; — a h
scen 2| 30 28 | 58 | 26.5 29.5 | 56.0 o { 575(7> 5853 5458 I 1651)68
| 27.5 30.5 | 58.0 - P P 7 o . . . -
Zoan 3 YI o1 33 Y 54 | 256 28.4 | 54.0 pearson chi2(2) = 2.2804 Pr = 0.320
l i Gl 21:0 Total | 80 89 | 169
Total | 80 89 | 169 I 80.0 89.0 | 169.0
80.0 89.0 169.0
I I Pearson chi2(2) = 0.3170 Pr = 0.853
pearson chi2(2) = 2.2804 Pr = 0.320 back pain | chest pain_st
_st | scen 1 scen 2 scen 3 | Total
scen 1| 32 30 27 1 89
I 31.1 29.5 28.4 | 89.0
scen 2| 27 26 27 | 80
I 27.9 26.5 25.6 | 80.0
Total | 59 56 54 | 169
] 59.0 56.0 54.0 | 169.0
Pearson chi2(2) = 0.2308 Pr = 0.891

_st @ station

scen scenario

To assess independence Chi? or Fisher exact test was calculated.



